
Culture and Life Insurance Ownership: Is It an Issue?

J. François Outreville¹

Abstract: Although life insurance consumption increases from low income group to high income group, there is a substantial variation in life insurance density across-country in each income group. The level of national income can explain peoples' ability to afford insurance, while cultural traits and the sociopolitical environment not only affect the amount of perceived risk and uncertainty but also influence people's attitudes and ways of handling perceived risks. The main objective of this paper is to review the definitions of culture to include dimensionalist and non-dimensionalist measures of culture and to investigate how national culture and the sociopolitical environment influence the level of life insurance pervasiveness. The results, based on a representative sample of emerging countries, show that the sociopolitical environment is clearly more important than the limited dimensionalist definition of culture.

[Key words: Insurance demand, economic growth, cultural distance, governance.]
JEL Classification: G22, E44, O16

INTRODUCTION

Despite the fact that the life insurance market has become an increasingly important financial sector in the world economy, there is a large variation in life insurance consumption across countries, most notably in developing and emerging countries. In almost all studies considering insurance demand at the country level, GDP shows up as by far the most important driver of growth (Outreville, 2013). However, as explained by Millo (2016a), the relationship between insurance and income misses the

¹ Université Bourgogne Franche-Comté, Burgundy School of Business, Dijon, France, jeanfrancois.outreville@bsb-education.com

Note: The original paper was presented at the SRIA annual meeting in Nashville, TN in November 2017. The revised version benefited from the comments of the reviewers.

point, as all other characteristics of the economic environment are likely to move together with income.

Without going into the details of the relationship between insurance growth and economic growth (see the recent papers by Millo, 2016a and 2016b), graphical analysis in several papers has suggested that national income is not the only determinant for cross-country variation in life insurance consumption (Chui and Kwok, 2009; Lee and Chiu, 2012; Outreville, 2013), and some authors have argued that other determinant factors are linked to the culture of the country (Park, 1993; Hofstede, 1995; Park et al., 2002; Park and Lemaire, 2011).

In nearly all theoretical and empirical work, the demand for life insurance is considered within the context of the consumer's lifetime allocation process, which maximizes a utility function depending on wealth, the income stream, interest rates, the cost of life insurance policies, and the assumed subjective discount rate for current over future consumption (Outreville, 1996; Beck and Webb, 2003; Outreville, 2013). The consumer's subjective apprehension and risk behavior is related to many factors that could be regrouped under demographic or geographic (family, location), institutional (political and legal), and social and cultural variables (education, religion, cultural distance). In other words, the level of national income can explain people's ability to afford insurance while cultural traits and the sociopolitical environment not only affect the amount of perceived risk and uncertainty but also influence people's attitudes and ways of handling perceived risks.

It is surprising that the role of culture remained for a long time limited to a few papers, considering that the article published by Hofstede (1995) in the *Geneva Papers on Risk and Insurance* opened the door to such research. Culture has been defined in many ways depending on the dominant theoretical perspective and methodological approach taken (Kirkman et al., 2006; Guiso et al., 2007; Beugelsdijk et al., 2017). Thus the first objective of this paper is to review all the studies that have examined the impact of culture on the level of insurance pervasiveness whatever definition of culture has been used.

This review shows that only a few empirical papers analyze the impact of different definitions of culture in the life insurance sector and none is applied to emerging countries. The exception is the most recent paper by Trinh et al. (2016) applying several definitions of culture and demonstrating significant differences between groups of developed and developing countries. However, the authors examine the determinants of non-life insurance only. This paper reviews the recent papers considering some of the aspects of culture in the determinants of life insurance in emerging countries. In a second part, some empirical tests are proposed, based on a

sample of emerging countries, to examine the relationship between life insurance and all possible the cultural variables.

The outline of the paper is as follows. Section 2 reviews the existing literature on the different definitions or approaches of culture. Section 3 presents some empirical tests on the cultural determinants of life insurance in emerging countries. The last section concludes the paper.

LITERATURE REVIEW

In this paper, we follow the approach used in the Finance literature and surveyed and documented in Reuter (2011). Culture is defined in two broad categories. The *dimensionalist* approaches can be traced back to Hofstede (1980, 1984, 2001) and Schwartz (1992, 1994). They are based on value-statements collected from individuals, in a large-scale survey. These value-statements are averaged by country and provide indices that characterize quantitative, and time-invariant, *cultural characteristics* for each country. Other approaches generally use the concept of “culture” in combination with a number of institutional characteristics of countries. These *non-dimensionalist* approaches assimilate culture with other concepts, such as the institutional environment (Knack and Keefer, 1995 and 1997), and the quality of the legal and regulatory environment (La Porta et al., 1997, 1998), and the quality of corporate governance (Kaufmann et al., 2000), but also the influence of religions, language, and education (Henderson and Milhouse, 1987; Hill, 2005).

The “cultural distance” approach initially proposed by Kogut and Singh (1988) is mainly used in international business studies to examine the impact of culture when looking at trade or investments flows. The hypothesis is that, as the cultural difference between two countries increases, trade or foreign direct investment decreases. Countries where entry would entail the least information costs are those most likely to be chosen as host countries. These costs could stem from geographic, cultural, institutional, and economic differences (Ghemawat, 2001; Bevan and Estrin, 2004; Bevan et al., 2004). When examining investment stocks rather than flows, distance effects are conflated with level effects (Brouthers et al., 2016; Harzing and Pudelko, 2016; Beugelsdijk et al., 2018), and cultural difference based on level effects is usually a preferred approach. However, debate still exists over how to theorize and operationalize culture, how stable culture is, which cultural factors influence organizational decisions, and whether cultural effects are dominated by other institutional factors (Aggarwal et al., 2012; Siegel et al., 2013).

Dimensionalist Approaches

The tentative measurement of national culture, with indices, can be traced back to Hofstede (1980). Hofstede's cultural dimensions are related to "power distance," which refers to the degree of inequality among people; "individualism/collectivism," which measures the degree to which people in a country prefer to act as individuals rather than members of a same group; "masculinity" to evaluate the impact of gender differences in a country; and "uncertainty avoidance/tolerance for ambiguity," which assesses the degree of preference for known situations. A fifth (and last) cultural dimension is introduced in a later stage by Hofstede (2001): long-term orientation. Hofstede found that there is a value, dominant in North-eastern Asia, which cannot be described by his original four dimensions. A new measure, called long-term orientation or Confucian dynamism, applicable for Asian countries only, measures the philosophy related with Confucianism: perseverance and thrift, personal stability, respect for tradition, honor of ancestors, and duty of financial support of parents.

Building on Hofstede (1980, 1984), Schwartz (1992, 1994) proposes a complementary approach oriented by three polarizations: "mastery/harmony," which values the active efforts of people to change their surroundings and get ahead of others; "egalitarianism/hierarchy," which emphasizes the commitment to help improve the welfare of other people rather than imposing the legitimacy of hierarchical roles; and "conservatism/autonomy" which compares values primarily concerned with security, conformity, and tradition to an emphasis on self-direction and own interests. A comparison of Schwartz's indices with those of Hofstede is available in Schwartz (2004), Drogendijk and Slangen (2006), and Schwartz (2006).

Douglas and Wildavsky (1982) is probably the first paper to show that the demand for insurance in a country may be affected by the unique culture of the country. Burnett and Palmer (1984) investigate a number of "behavioral biases" in life insurance holdings across nations; they note that "*traditional work ethic, fatalism, socialization preference, religion salience, and assertiveness*" are important international determinants. Park (1993) attempts to demonstrate the impact of national culture on insurance business. He uses Hofstede's cultural indices to test the effects of Uncertainty Avoidance and Individualism versus Collectivism on insurance pervasiveness of certain countries, but the validity of the results may be questioned due to the small sample size and the use of a non-parametric statistical test. These ideas are formally tested by Park, Borde, and Choi (2002), who find no statistical relationship between total insurance (life and non-life) and cultural variables with the exception of the masculine/feminine dimension.

A review of the insurance literature shows that only a limited number of studies have considered Hofstede's cultural variables and none, to our

knowledge, has ever tested Schwartz's variables. Only three studies considers the life insurance sector, none focuses on developing or emerging markets (Table 1).

Two papers by Chui and Kwok (2008, 2009) introduce cultural variables as potential predictors of life insurance consumption. Chui and Kwok (2008) investigate the impact of Hofstede's cultural variables—individualism, power distance, masculinity/femininity, and uncertainty avoidance—and find the first three dimensions to significantly impact life insurance purchases. In their follow-up study, Chui and Kwok (2009) introduce more cultural variables defined by the GLOBE (Global Leadership and Organizational Behavior Effectiveness) project. Their analysis reveals a strong relationship between life insurance consumption and scores on collectivism and power distance measures, after controlling for several economic and institutional variables, such as income, inflation, banking sector development, dependency ratio, life expectancy, and religion.

Park and Lemaire (2011) extend Chui and Kwok's work by analyzing Hofstede's fifth cultural dimension: long-term orientation. Most of the cultural variables are found to be significantly related to life insurance demand. These papers are the only papers having examined the relationship between cultural variables and life insurance expenditure.

Non-Dimensionalist Approaches

Among the non-dimensionalist approaches that assimilate culture with other concepts, it is suggested by institutional theorists that a country's institutional environment, represented by corruption perception, political risk, and the legal environment, influences traditional investment motivations (Rottig, 2016; Dikova and Brouthers, 2016). Dow and Karunaratna (2006) use the general level of education, language, political systems, and religion to measure cultural effects.

There has been a surge of interest in the consequences of governance for development and how a country's risk could have an impact on global investment strategies. A country's risk may include several factors, such as political risk, access to finance and capital markets, credit rating, or sovereign risk. Corruption is commonly defined as the abuse of public office for private gain. Governance is a much broader notion, which is defined as the traditions and institutions that determine how authority is exercised in a particular country. This includes (1) the process by which governments are selected, held accountable, monitored, and replaced; (2) the capacity of governments to manage resources efficiently and formulate, implement, and enforce sound policies and regulations; and (3) the respect of citizens and the state for the institutions that govern economic and social interactions among them (Kaufmann, 2003).

Table 1. Summary of Papers Dealing with Dimensionalist and Other Cultural Variables

References	Sample	Years	Power distance	Uncertainty	Individualism	Masculinity	Religion	Urbanization	Education
Park et al. (2002)	Total insurance (37)	1997	NS	NS	NS	positive			
Esho et al. (2004)	Non-life (44)	1984–1998	Negative	NS				Positive	NS
Chui & Kwok (2008)	Life (41)	1976–2001	Negative	NS	Positive	Negative			
Chui & Kwok (2009)	Life (38)	1966–2004	Positive	Negative	Positive	Positive			
Park & Lemaire (2011)	Life (27)	2000–2008	Positive	Positive	Positive	Negative	Negative	NS	NS
Park & Lemaire (2012)	Non-life (82)	1999–2008	Negative	Positive	Positive	Positive	Negative	NS	NS
Trinh et al. (2016)	Non-life (67)	2000–2011	Positive	NS	NS	Negative	Negative	Positive	NS

Notes: The number of countries is in parentheses; NS = non-significant

In the insurance literature, a number of papers have investigated the empirical relationships between insurance and some of these non-dimensionalist variables. However, most of these studies refer to the insurance sector of developed countries (see Outreville, 2013, for a survey). The paper by Elango and Jones (2011) is often considered as a corner step for research on the determinants of insurance in emerging markets, although Outreville (1996) is the first study focusing on developing countries and some papers have focused on single countries (Hwang and Gao, 2003, China; Vadlamani, 2008, India; Lee et al., 2010, Korea).² Table 2 presents a survey of the most recent papers focusing on developing or emerging markets. All these papers consider some aspects of non-dimensionalist measures of culture without integrating any dimensionalist measure. The only exception is Trinh et al. (2016), mentioned before. The paper shows how culture, economic freedom, and law systems together are the key drivers of non-life expenditure across countries.

The level of education and human capital endowment is generally hypothesized to be positively related to insurance consumption. Many empirical papers have verified a strong positive and significant relationship with life insurance demand (Table 2). However, some papers do not find any significant relation, questioning whether the level of education does not interfere at the earlier stage of development but does so later (Park and Lemaire, 2011). Also, the link between risk aversion, the level of education, or human capital accumulation remains largely hypothetical, as demonstrated by Outreville (2014, 2015) and by Dragos (2014) for a panel of 17 emerging economies from Asia and Europe.

Economies with a higher share of urban to total population are expected to have higher levels of life insurance consumption because urbanization simplifies the distribution of these products. This variable has generally been neglected in empirical research and results are not conclusive, with the exception of Dragos (2014) and Brokešová et al. (2014). Two earlier papers looking at life insurance demand in Asian countries use this variable as a measure of the change in social structure and find a positive relationship (Hwang and Gao, 2003; Hwang and Greenford, 2005).

The importance of good governance in the financial sector (both public and corporate) has been highlighted by crisis in Asia, Russia, and some Latin American countries. Despite the fact that this institutional environment is particularly relevant to the insurance industry, most recent studies accounting for these factors have only investigated the internationalization process of insurance business (Cole et al., 2007; Outreville, 2008) rather than

²See Outreville (2013) for a survey.

Table 2. Summary of Papers Dealing with Some Non-Dimensionalist Variables

References	Sector	Sample	Years	Education	Urbanization	Political stability	Corruption	Openness	Business freedom	Rule of law	Govt. effectiveness
Eck and Nizovtsev (2006)	Life insurance	23 Latin America	2005	Positive					Negative		
Nesterova (2008)	Life insurance	14 Central European	1996–2006	NS	NS	Negative	NS			Positive	
Elango-Jones (2011)	Life and non-life insurance	35 emerging nations	1999–2008	NS			Negative	Positive	Negative		
Kjosevski (2012)	Life insurance	14 Central European	1998–2010	Positive			NS			Positive	NS
Njegomir-Stojic (2012)	Non-life insurance	15 Central European	2004–2009	NS				Positive	Negative		
Dragos (2014)	Life and non-life insurance	17 emerging nations	2001–2011	Positive	Positive						
Brokešová et al. (2014)	Life and non-life insurance	4 Central European	1995–2010	Positive	Positive						Positive
Ngwenduna et al. (2015)	Life insurance	51 Africa	2009–2013	NS	NS	Positive	Negative				Positive
Allhassan-Biepe (2016)	Life insurance	31 Africa	2006–2010								Positive

Note: NS = non-significant

the demand for insurance. Park and Lemaire (2011), Brokešová et al. (2014), and Ngwenduna et al. (2015) find a positive and significant impact of government effectiveness on life insurance. Alhassan and Biekpe (2016) define government effectiveness as institutional quality and also find a positive and significant impact. On the contrary, Kjosevski (2012) controls for corruption and government effectiveness in his analysis but results do not appear to be associated with life insurance demand. Corruption is hypothesized to affect insurance demand negatively but this result is only verified in two studies (Elango and Jones, 2011; Ngwenduna et al., 2015). Political stability (or country risks) significantly affects insurance demand in a large panel of countries (Lee et al., 2013) but the results are surprisingly inconclusive in the studies considering emerging or developing countries.

A society's attitude to business freedom is important in examining the possible success of insurance services. In developing countries where authority is weak and rules are not enforceable, the implication is a negative impact on the level of development of the insurance sector (Eck and Nizovtsev, 2006; Elango and Jones, 2011; Njegomir and Stojic, 2012). When considering a dummy variable to account for the common law system, the results are positive and significant both for developed countries (Feyen et al., 2013) and developing countries (Nesterova, 2008; Kjosevski, 2012).

An individual's religion can provide insight into the individual's behavior. Understanding religion is an important component of understanding a nation's unique culture. Countries with Islamic background have a reduced demand for life insurance consumption, as verified in all empirical papers surveyed by Outreville (2013).

The purpose of the following sections is to examine the impact of the dimensional and non-dimensional cultural variables in addition to the usually strong relationship between the level of insurance development and the level of economic activity during the same period of time. The focus is on emerging countries.

SOME EMPIRICAL TESTS ON THE DETERMINANTS OF LIFE INSURANCE IN EMERGING COUNTRIES

Data and Descriptive Statistics

Two measures are used traditionally to show the relative importance of insurance within national economies. Insurance density indicates the average annual per capita premium within a country, expressed in US dollars. It indicates how much each inhabitant of the country spends on average on insurance, but currency fluctuations affect comparisons.

Insurance penetration is the ratio of direct premiums written to GDP. It shows the relative importance of the insurance sector within national economies and is not affected by currency fluctuations. However, it ignores differences in product design, price levels, and other market structure characteristics. Density is the most common measure used in empirical studies.

Past literature on the relationship between culture and insurance relies on samples of developed and developing countries without considering the heterogeneity problem (Browne and Kim, 1993; Outreville, 1996; Beck and Webb, 2003; Li et al., 2007; Millo and Carmeci, 2015). Millo (2016a) argues that, as all other characteristics of the economic environment are likely to move together with income, the question is whether the development of the insurance market is actually due to income growth or to other correlated factors. Considering that the dimensional and non-dimensional cultural variables for the higher developed countries are measured within a short range of values, the analysis of emerging and developing countries seems more appropriate. Including developed countries in the sample would produce biased results due to the strong relationship between the level of income and the dimensional or non-dimensional measures of culture.

For emerging countries, density and penetration show an impressive increase in many countries from 2000 to 2015 (Table 3). In the early 1990s, only a few countries had a penetration ratio greater than 3. The growth has been particularly spectacular in Asian countries and territories. On the other hand, in some developing countries of South America and Africa this ratio has remained low and may reflect the economic situation experienced in these countries.

Following previous empirical research, the relationship between insurance density and GDP is hypothesized to be a log-linear relationship. Insurance density rises with GDP per capita, but different levels of GDP are assumed to be accompanied by different growth rates of penetration.

The Empirical Framework

In nearly all theoretical and empirical work, the demand for life insurance is considered within the context of the consumer's lifetime allocation process. It is assumed that there is an annual income stream $Y_t, Y_{t+1}, \dots, Y_{t+T}$ where t represents the years at which the consumer's decisions are to be made and $t+T$ represents his maximum possible attained age. Annual income, which includes returns from past savings, is split between a consumption plan (C) and savings, which in turn will be devoted to future consumption or to a bequest plan (W) according to utility functions maximizing the total expected utility of the consumer:

Table 3. Density and Penetration for 15 Emerging Countries, 2000 and 2015

DENSITY	2000	2015	PENETRATION	2000	2015
Hong Kong	895.8	5665.2	Taiwan	4.83%	15.74%
Taiwan	710.0	3396.6	Hong Kong	3.53%	13.31%
Singapore	1189.0	2931.5	South Africa	14.86%	12.00%
South Korea	941.8	1939.9	South Korea	8.41%	7.30%
South Africa	439.6	687.9	Singapore	5.07%	5.55%
Chile	125.0	386.5	Thailand	1.20%	3.70%
Malaysia	101.8	315.6	Malaysia	2.51%	3.37%
Slovenia	84.4	303.2	Chile	2.72%	2.91%
United Arab Emirates	58.2	266.0	India	1.66%	2.72%
Czech Republic	57.4	240.8	Jamaica	1.80%	2.20%
Thailand	23.6	215.1	Brazil	0.70%	2.09%
Slovakia	45.6	180.9	China	0.86%	1.95%
Brazil	26.0	178.3	Slovenia	0.84%	1.43%
Hungary	61.8	162.8	Philippines	0.78%	1.37%
China	8.1	154.1	Czech Republic	1.04%	1.33%

$$EU = \sum_{i=0}^T E a(\cdot) g(Ct+i) + b(\cdot) h(Wt+i),$$

with $a(\cdot)$ and $b(\cdot)$ being the consumers' subjective discount for consumption and bequest. The expected values by assumption are due to cultural factors unique to a country.

From a macro-economic perspective, how would country-specific variables affect the level of insurance demand? As usually assumed in recent empirical studies (Chui and Kwok, 2008 and 2009; Park and Lemaire, 2011; Lee et al., 2013), at a given year t the level of insurance consumption is equal to:

$$\text{Log (insurance year } t) = \text{log (GDP year } t) + \text{country-specific variables,}$$

where country-specific variables are related to cultural, institutional, or governance factors.³

³See Appendix 1.

Cultural differences:

- Hofstede variables:
 - Power distance, Uncertainty, Individualism, Masculinity.
- Schwartz variables:
 - Egalitarianism/Hierarchy, Harmony/Mastery, Conservatism/Autonomy.

Cultural environment:

- Religion, Urbanization, Human development/Education

Efficiency factors: Government effectiveness, Rule of law, Voice and accountability.

Governance: Political stability, Corruption index.

In this paper, life insurance consumption or ownership is measured as the natural logarithm of density for country i in year t . Life insurance consumption is expected to respond positively to changes in income measured by GDP per capita, and a wide strand of literature has focused on the importance of this variable to explain life insurance demand (Outreville, 2013).

The country-specific variables vary across countries but are assumed to be invariant across time for a given country. It is important to note that national cultural differences have remained fairly stable over time. For example, the World Value Survey, a study of 65 countries reflecting 75% of the world's population, shows a remarkable resilience of distinctive cultural values even after taking into account the cultural changes caused by modernization and economic development (Inglehart and Baker, 2000). Hofstede variables, to account for cultural differences, are retrieved from the Hofstede website⁴ and Schwartz variables are from the Year 2005 release of the Schwartz data set (Siegel et al., 2011; Siegel et al., 2013). The Efficiency factors and Governance indices are published by the World Bank Institute and defined by Kaufmann et al. (2000), Kaufmann, 2003, and Kaufmann and Kraay (2002).

Empirical Results

The endogeneity problem between insurance, GDP, and cultural variables is an important consideration that has been examined by Trinh (2016, ch. 2). However, the dimensionalist cultural variables like Hofstede and Schwartz data are static, and time-invariant measures and non-dimensionalist variables are fixed percentages or almost identical over long periods of time ($t - 1$ is identical to t for almost all countries in the sample). The

⁴<http://geert-hofstede.com/countries.html>

alternative procedures proposed by Trinh (2016) are not feasible and a panel regression analysis is not useful. Including a one-year-lagged GDP is, however, an alternative solution.

There is also high multicollinearity between the different categories of cultural variables. To deal with these problems we propose a step-by-step analysis of the relationship. A similar approach is used in Chui and Kwok (2008), and Brokešová et al. (2014) divide the cultural variables into four groups (economic, demographic, sociocultural, and business environment) and estimate four partial models.

The relationship is verified only for the years 2000, 2010, and 2015. We first examine the basic relationship between life insurance and GDP (year t and $t - 1$) and dimensionalist cultural variables, and in subsequent steps we introduce non-dimensionalist variables.

Table 4 shows the results for dimensionalist cultural variables. There is little difference in the results with GDP at current year t and lagged GDP at year $t - 1$. Only one variable—i.e., uncertainty—exhibits a significant negative sign for all the years. Contrary to Chui and Kwok (2008), examining a sample of 41 developed and developing countries, the Power index is never significant, Masculinity exhibits the wrong expected sign and is never significant, and the Individualism variable is only significant in the first year. It is also important to show that the Schwartz variables are never significant in all the models tested. These overall results are similar to Park et al. (2002), who failed to identify any significant cultural factor. GDP per capita (as a measure of the affordability of insurance) remains the major factor that explains the level of insurance ownership.

As a robustness test, the validation of the empirical tests is done with life insurance penetration instead of life insurance density. The result is even stronger since none of the cultural variables remain consistently significant over the three periods (Appendix 2).

In a second step we add the cultural environment to the list of significant variables such as uncertainty and individualism. Results are presented in Table 5. Contrary to Hwang and Gao (2003) and Hwang and Greenford (2005), the variable measuring the share of the urban population (URBAN) is never significant. Contrary to many empirical papers presenting a strong positive and significant relationship between life insurance demand and human development and education (HDI) (see Outreville, 2013), our results are not significant. Some papers did not find any significant relation, calling into question the fact that the level of education may not interfere at the earlier stage of development but does so later (Park and Lemaire, 2011). The only significant variable in all the periods is Religion (RELIGION). We tested the Christian, Muslim, and Buddhist religions and

Table 4. The Impact of Dimensionalist Cultural Variables

Dependent Variable: LOG(Density 2000)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	9.724	7.907	1.229***	13.117	9.944	1.319
LOG(GDPCAPITA)	1.568	0.230	6.808	1.465	0.316	4.626***
POWER	-0.001	0.015	-0.076	-0.012	0.019	-0.658
UNCERTAINTY	-0.021	0.011	-1.808*	-0.032	0.014	-2.256**
INDIVIDUALISM	0.032	0.015	2.167**	0.028	0.017	1.683*
MASCULINITY	-0.014	0.015	-0.946	-0.010	0.019	-0.535
EGALITARISM	-0.698	1.017	-0.686	-0.671	1.291	-0.519
HARMONY	-1.039	0.904	-1.149	-1.061	1.145	-0.926
CONSERVATISM	0.103	1.294	0.079	-0.527	1.634	-0.322
R-squared	0.798			0.677		

Dependent Variable: LOG(Density 2010)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	15.872	10.443	1.519	16.759	10.935	1.532
LOG(GDPCAPITA)	1.368	0.346	3.950***	1.315	0.370	3.551***
POWER	-0.021	0.019	-1.117	-0.018	0.019	-0.048
UNCERTAINTY	-0.033	0.014	-2.361**	-0.035	0.014	-2.405**
INDIVIDUALISM	-0.001	0.018	-0.057	0.003	0.019	0.161
MASCULINITY	0.008	0.019	0.445	0.004	0.019	0.229
EGALITARISM	-1.230	1.272	-0.967	-1.261	1.329	-0.949
HARMONY	-0.335	1.138	-0.294	-0.352	1.189	-0.295
CONSERVATISM	-1.031	1.674	-0.616	-1.175	1.758	-0.668
R-squared	0.654			0.623		

Dependent Variable: LOG(Density 2015)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	10.399	9.822	1.058	14.597	10.785	1.353
LOG(GDPCAPITA)	1.536	0.339	4.528***	1.307	0.370	3.532***
POWER	-0.019	0.017	-1.121	-0.024	0.019	-1.234
UNCERTAINTY	-0.029	0.013	-2.254**	-0.036	0.014	-2.556**
INDIVIDUALISM	0.006	0.016	0.393	0.002	0.018	0.141
MASCULINITY	-0.003	0.017	-0.214	-0.006	0.019	-0.288
EGALITARISM	-0.897	1.155	-0.777	-1.136	1.287	-0.882
HARMONY	-0.471	1.029	-0.457	-0.316	1.152	-0.274
CONSERVATISM	0.058	1.569	0.037	-0.534	1.740	-0.307
R-squared	0.698			0.623		

Note: All models have been estimated with a constant variable C.
Significance level at 1% (***), 5% (**), and 10% (*)

Table 5. The Impact of the Cultural Environment

Dependent Variable: LOG(Density 2000)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	2.904	2.161	1.344	-0.355	2.524	-0.141
LOG(GDPCAPITA)	1.216	0.412	2.950**	1.997	1.294	1.306
UNCERTAINTY	-0.022	0.008	-2.569***	-0.028	0.009	-3.144***
INDIVIDUALISM	0.019	0.011	1.677*	0.021	0.013	1.542*
URBAN	0.102	2.136	0.047	0.433	0.520	0.833
HDI	-0.228	3.538	-0.064	3.125	4.324	0.722
RELIGION (Muslim)	-0.912	0.585	-1.558*	-0.901	0.666	-1.352
R-squared	0.702			0.629		

Dependent Variable: LOG(Density 2010)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	3.250	2.247	1.446	2.997	2.368	1.265
LOG(GDPCAPITA)	0.965	0.543	1.778*	0.945	0.624	1.513*
UNCERTAIN	-0.029	0.008	-3.497***	-0.030	0.008	-3.504***
INDIVIDU	0.012	0.012	0.944	0.012	0.012	0.992
URBAN	0.363	2.025	0.179	0.279	2.192	0.127
HDI	0.996	4.350	0.229	1.538	4.510	0.341
RELIGION (Muslim)	-1.276	0.621	-2.054**	-1.227	0.627	-1.955**
R-squared	0.642			0.633		

Dependent Variable: LOG(Density 2015)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	3.842	2.936	1.308	0.924	3.173	0.291
LOG(GDPCAPITA)	1.508	0.695	2.169***	1.626	0.935	1.851*
UNCERTAIN	-0.020	0.009	-2.320**	-0.024	0.009	-2.681**
INDIVIDU	0.005	0.012	0.471	0.003	0.013	0.268
URBAN	-0.253	1.929	-0.131	0.457	2.321	0.197
HDI	-1.512	5.778	-0.262	4.927	5.665	0.869
RELIGION (Muslim)	-0.909	0.625	-1.454*	-0.732	0.663	-1.103
R-squared	0.603			0.554		

Note: All models have been estimated with a constant variable C. Significance level at 1% (***), 5% (**), and 10% (*)

found a strong negative and significant impact related to the Muslim religion, as demonstrated in previous studies (See Outreville, 2013).

In the last step we add to the model the non-dimensionalist cultural variables related to efficiency and governance. Among the efficiency factors

defined by Kaufmann et al. (2000), Voice and Accountability and Rule of law are never significant whatever the model or period tested. On the other hand, Government Effectiveness (GOVT Effectiveness) has a positive and significant impact on all models and periods tested. Concerning the governance variables, only the political stability index (POLITICS) is negative and significant in the year 2000. The corruption index has a negative impact on the results but is never significant.

Table 6 below shows the best results for the years 2000, 2010, and 2015. It is interesting to note that only two variables remain significant in all the periods—i.e., Religion and Government effectiveness. None of the dimensional cultural variables, including uncertainty, remain significant when Government effectiveness is introduced in the model. This result makes sense because government effectiveness is certainly the result of the culture and cultural environment of a country. Cultural effects are dominated by institutional factors (Aggarwal et al., 2012; Siegel et al., 2013). This result is also similar to the conclusion of Park et al. (2002), who failed to identify any cultural factor and concluded that economic freedom and regulatory factors explained the degree of insurance pervasiveness. Park and Lemaire (2011) also find a positive and significant impact of government effectiveness on insurance density.

CONCLUSION AND DISCUSSIONS

Although the level of national income can explain people's ability to afford insurance, it is hypothesized that cultural traits and the sociopolitical environment not only affect the amount of perceived risk and uncertainty but also influence people's attitudes and ways of handling perceived risks. Thus, the main objective of this paper is to investigate how national culture and sociopolitical environment influences the level of life insurance consumption or ownership in a representative sample of emerging countries.

The first part of the paper reviews the different definitions of culture and shows that these approaches have not been systematically investigated, with the exception of Trinh (2016) for the non-life insurance sector. Papers considering the dimensional cultural variables in the life insurance sector do not take into account the non-dimensional approaches, and vice-versa.

The second part of the paper presents some results based on a representative sample of emerging countries. It shows that the sociopolitical environment measured by Government effectiveness is clearly more important than the limited dimensional definition of culture. This result is in line with Siegel et al. (2013), who show that cultural effects are

Table 6. The Impact of the Non-Dimensionalist Cultural Variables

Dependent Variable: LOG(Density 2000)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	2.458	0.481	5.107	2.165	0.527	4.108
LOG(GDPCAPITA)	0.751	0.187	4.005***	0.627	0.194	3.224***
UNCERTAINTY	-0.006	0.006	-1.053	-0.007	0.007	-0.984
RELIGION (Muslim)	-0.774	0.395	-1.957**	-0.824	0.421	-1.959**
GOVT Effectiveness	2.031	0.366	5.548***	2.278	0.369	6.168***
POLITICS	-0.628	0.267	-2.351**	-0.604	0.286	-2.111**
R-squared	0.831			0.809		

Dependent Variable: LOG(Density 2010)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	3.898	0.554	7.033	3.862	0.552	6.991
LOG(GDPCAPITA)	0.298	0.218	1.368	0.324	0.215	1.508
UNCERTAINTY	-0.009	0.006	-1.371	-0.009	0.006	-1.416
RELIGION (Muslim)	-0.951	0.393	-2.419**	-0.939	0.389	-2.412**
GOVT Effectiveness	1.937	0.342	5.657***	1.936	0.334	5.790***
POLITICS	-0.176	0.242	-0.731	-0.179	0.238	-0.751
R-squared	0.824			0.826		

Dependent Variable: LOG(Density 2015)						
Variable	Current year <i>t</i>			Lagged year (<i>t</i> -1)		
	Coefficient	Std. Error	<i>t</i> -Statistic	Coefficient	Std. Error	<i>t</i> -Statistic
C	3.509	0.648	5.425	3.725	0.596	6.239
LOG(GDPCAPITA)	0.238	0.280	0.852	0.100	0.241	0.416
UNCERTAINTY	-0.001	0.006	-0.168	-0.0001	0.006	-0.024
RELIGION (Muslim)	-0.682	0.396	-1.721*	-0.675	0.400	-1.686*
GOVT Effectiveness	2.168	0.367	5.907***	2.265	0.358	6.321***
POLITICS	-0.299	0.249	-1.203	-0.250	0.244	-1.024
R-squared	0.808			0.805		

Note: All models have been estimated with a constant variable C. Significance level at 1% (***), 5% (**) and 10% (*)

dominated by other institutional factors. Among the variables related to the cultural environment, religion is also an important significant factor, as demonstrated in the past empirical research.

There are two major limitations to this study that could be examined in future work. The first is related to the empirical analysis used to deal with endogeneity and multicollinearity problems. The recent work by

Trinh (2016) for non-life insurance certainly could be considered for the life insurance sector. The second is related to systemic differences between countries due to the importance of social security systems outsourcing old-age welfare to the private sector, which gives rise to the world's biggest life insurance markets in terms of penetration over GDP in some Asian countries or territories. However, recent studies by Feyen et al. (2013), Brokešová et al. (2014), and Ngwenduna et al. (2015) show non-significant results for the impact of Social security variables.

Although social security systems are not considered as a cultural element, further analysis should take into account the different social security systems with the constraints related to endogeneity problems between the demand for social insurance and culture demonstrated in Brügger et al. (2011).

Even though these limitations may weaken the significance of the findings, the empirical results are still reasonable and represent a useful estimation of influential cultural factors for life insurance. Further research on the determinants of insurance demand should consider the importance of institutional factors and how they may interfere in the role of cultural factors.

REFERENCES

- Aggarwal, R., C. Kearney, and B. Lucey (2012) "Gravity and Culture in Foreign Portfolio Investment," *Journal of Banking & Finance* 36(2): 525–538.
- Alhassan, A. L. and N. Biekpe (2016) "Determinants of Life Insurance Consumption in Africa," *Research in International Business and Finance* 37(1): 17–27.
- Beck, T., and I. Webb (2003) "Economic, Demographic, and Institutional Determinants of Life Insurance Consumption across Countries," *World Bank Economic Review* 17(1): 51–88.
- Beugelsdijk, S., T. Kostova, and K. Roth (2017) "An Overview of Hofstede-Inspired Country-Level Culture Research in International Business Since 2006," *Journal of International Business Studies* 48(1): 30–47.
- Beugelsdijk, S., T. Kostova, V. E. Kunst, E. Spadafora, and M. van Essen (2018) "Cultural Distance and Firm Internationalization: A Meta-Analytical Review and Theoretical Implications," *Journal of Management* 44(1): 89–130.
- Bevan, A. A. and S. Estrin (2004) "The Determinants of Foreign Direct Investment into European Transition Economies," *Journal of Comparative Economics* 32(4): 775–787.
- Bevan, A., S. Estrin, and K. Meyer (2004) "Foreign Investment, Location and Institutional Development in Transition Economies," *International Business Review* 13(1): 43–64.

- Brokešová, Z., E. Pastoráková, and T. Ondruška (2014) "Determinants of Insurance Industry Development in Transition Economies: Empirical Analysis of Visegrad Group Data," *Geneva Papers on Risk and Insurance* 39(3): 471–492.
- Brouthers, L. E., V. B. Marshall, and D. L. Keig (2016) "Solving the Single-Country Sample Problem in Cultural Distance Studies," *Journal of International Business Studies* 47(1): 1–9.
- Browne, M. J. and K. Kim (1993) "An International Analysis of Life Insurance Demand," *Journal of Risk and Insurance* 60(4): 616–634.
- Brügger, B., R. Lalive, A. Steinhauer, and J. Zweimüller (2011) "The Demand for Social Insurance: Does Culture Matter?" University of Zurich, Department of Economics, Working paper 41 (October).
- Burnett, J. J. and B. A. Palmer (1984) "Examining Life Insurance Ownership Through Demographic and Psychographic Characteristics," *Journal of Risk and Insurance* 51(3): 453–467.
- Chui, A. C. and C. C. Kwok (2008) "National Culture and Life Insurance Consumption," *Journal of International Business Studies* 39(1): 88–101.
- Chui, A. C. and C. C. Kwok (2009) "Cultural Practices and Life Insurance Consumption: An International Analysis using GLOBE Scores," *Journal of Multinational Financial Management* 19(2): 273–290.
- Chui, A. C., A. Lloyd, and C. Kwok (2002) "The Determination of Capital Structure: Is National Culture a Missing Piece to the Puzzle?" *Journal of International Business Studies* 33(1): 99–127.
- Cole, C. R., R. B. Lee, and K. A. McCullough (2007) "A Test of the Eclectic Paradigm: Evidence from the U.S. Reinsurance Market," *Journal of Risk and Insurance* 74(2): 493–522.
- Dikova, D. and K. Brouthers (2016) "International Establishment Mode Choice: Past, Present and Future," *Management International Review* 56(4): 489–530.
- Douglas, M. and A. Wildavsky (1982) *Risk and Culture*, University of California Press.
- Dow, D. and A. Karunaratna (2006) "Developing a Multidimensional Instrument to Measure Psychic Distance Stimuli," *Journal of International Business Studies* 37(5): 578–602.
- Dragos, S. L. (2014) "Life and Non-Life Insurance Demand: The Different Effects of Influence Factors in Emerging Countries from Europe and Asia," *Economic Research — Ekonomiska Istraživanja* 27(1): 169–180.
- Drogendijk, R. and A. Slangen (2006) "Hofstede, Schwartz, or Managerial Perceptions? The Effects of Different Cultural Distance Measures on Establishment Mode Choices by Multinational Enterprises," *International Business Review* 15(4): 361–380.
- Eck, J. R. and D. Nizovtsev (2006) "The Impact of Culture on the Purchase of Life Insurance in Latin America and the Caribbean," *International Business and Economics Research Journal* 5(1): 31–45.
- Elango, B. and J. Jones (2011) "Drivers of Insurance Demand in Emerging Markets," *Journal of Service Science Research* 3(2): 185–204.

- Esho, N., A. Kirievsky, D. Ward, and R. Zurbruegg (2004) "Law and the Determinants of Property-Casualty Insurance," *Journal of Risk and Insurance* 71(2): 265–283.
- Feyen, E., R. Lester, and R. Rocha (2013) "What Drives the Development of the Insurance Sector? An Empirical Analysis Based on a Panel of Developed and Developing Countries," *Journal of Financial Perspectives* 1(1): 1–27.
- Ghemawat, P. (2001) "Distance Still Matters: The Hard Reality of Global Expansion," *Harvard Business Review* (September): 137–147.
- Guiso, L., P. Sapienza, and L. Zingales (2007) "Does Culture Affect Economic Outcomes?" *Journal of Economic Perspectives* 20(2): 23–48.
- Harzing, A. W. and M. Pudelko (2016) "Do We Need to Distance Ourselves from the Distance Concept? Why Home and Host Country Context Might Matter More Than (Cultural) Distance," *Management International Review* 56(1): 1–34.
- Henderson, G. and V. H. Milhouse (1987) *International Business and Cultures: A Human Relations Perspective*, Cummings & Hathaway.
- Hill, C. W. L. (2005) *International Business: Competing in the Global Marketplace*, 5th ed., McGraw Hill Irwin.
- Hofstede, G. (1980) *Culture's Consequence*, Sage Publications.
- Hofstede, G. (1984) *Culture's Consequences: International Differences in Work-Related Values*, Sage Publications.
- Hofstede, G. (1995) "Insurance as a Product of National Values," *Geneva Papers on Risk and Insurance* 77(20): 423–429.
- Hofstede, G. H. (2001) *Culture's Consequences: Comparing Values, Behaviors, Institutions, and Organizations across Nations*, 2nd edition, Sage Publications.
- Hwang, T., and S. Gao (2003) "The Determinants of the Demand for Life Insurance in an Emerging Economy – The Case of China," *Managerial Finance* 29(5/6): 82–96.
- Hwang, T., and B. Greenford (2005) "A Cross-Section Analysis of the Determinants of Life Insurance Consumption in Mainland China, Hong-Kong and Taiwan," *Risk Management and Insurance Review* 8(1): 103–125.
- Inglehart, R. and W. E. Baker (2000) "Modernization, Cultural Change, and the Persistence of Traditional Values," *American Sociological Review* 65(1): 19–51.
- Kaufmann, D. (2003) "Rethinking Governance: Empirical Lessons Challenge Orthodoxy," *World Bank Research Paper*, World Bank, Washington, DC. Available at www.worldbank.org/wbi/governance/.
- Kaufmann, D. and A. Kraay (2002) "Growth without Governance," *Economia* 3(1): 169–229.
- Kaufmann, D., A. Kraay, and P. Zoido-Lobaton (2000) "Governance Matters: From Measurement to Action," *Finance and Development* 37(2): 10–13.
- Kirkman, B. L., K. B. Lowe, and C. B. Gibson (2006) "A Quarter Century of 'Culture's Consequences': A Review of Empirical Research Incorporating Hofstede's Cultural Values Framework," *Journal of International Business Studies* 37(3): 285–320.
- Kjosevski, J. (2012) "The Determinants of Life Insurance Demand in Central and Southeastern Europe," *International Journal of Economics and Finance* 4(3): 237–247.

- Knack, S. and P. Keefer (1995) "Institutions and Economic Performance: Cross-Country Tests Using Alternative Institutional Measures," *Economic and Politics* 7(3): 207–227.
- Knack, S. and P. Keefer (1997) "Does Social Capital Have an Economic Payoff? A Cross-Country Investigation," *Quarterly Journal of Economics* 112(4): 1251–1288.
- Kogut, B. and H. Singh (1988) "The Effect of National Culture on the Choice of Entry Mode," *Journal of International Business Studies* 19(3): 411–432.
- La Porta, R., F. Lopez-de-Silanes, A. Shleifer, and R. Vishny (1997) "Legal Determinants of External Finance," *Journal of Finance* 52(3): 1131–1150.
- La Porta, R., F. Lopez-de-Silanes, A. Shleifer, and R. Vishny (1998) "Law and Finance," *Journal of Political Economy* 106: 1133–1155.
- Lee, C. C., and Y. B. Chiu (2012) "The Impact of Real Income on Insurance Premiums: Evidence from Panel Data," *International Review of Economics and Finance* 21(1): 246–260.
- Lee, C-C., Y.-B. Chiu, and C.-H. Chang (2013) "Insurance Demand and Country Risks: A Nonlinear Panel Data Analysis," *Journal of International Money and Finance* 36(Sept): 68–85.
- Lee, S. J., S. I. Kwon, and S. Y. Chung (2010) "Determinants of Household Demand for Insurance: The Case of Korea," *Geneva Papers on Risk and Insurance* 35 (Supplement 1): S82–S91.
- Li, D., F. Moshirian, P. Nguyen, and T. Wee (2007) "The Demand for Life Insurance in OECD Countries," *Journal of Risk and Insurance* 74(3): 637–652.
- Millo, G. (2016a) "The S-Curve and Reality," *Geneva Papers on Risk and Insurance* 41: 608–625.
- Millo, G. (2016b) "The Income Elasticity of Non-Life Insurance: A Reassessment," *Journal of Risk and Insurance* 83(2): 335–361.
- Millo, G. and Carmeci, G. (2015) "A Sub-Regional Panel Data Analysis of Life Insurance Consumption in Italy," *Journal of Risk and Insurance* 82(2): 317–340.
- Nesterova, D. (2008) *Determinants of the Demand for Life Insurance: Evidence from Selected CIS and CEE Countries*, Masters thesis, National University "Kyiv-Mohyla Academy," Ukraine.
- Ngwenduna, K. S., M. G. Hayes, and J. Angove (2015) "An Investigation into Life Assurance Markets in Africa," presented at the Actuarial Society of South Africa's 2015 Convention, 17–18 November.
- Njegomir, V. and D. Stojic (2012) "Determinants of Nonlife Insurance Market Attractiveness for Foreign Investments: Eastern European Evidence," *Economic Research – Ekonomska Istraživanja* 25(2): 297–310.
- Outreville, J. F. (1996) "Life Insurance Markets in Developing Countries," *Journal of Risk and Insurance* 63(2): 263–278.
- Outreville, J. F. (2008) "Foreign Affiliates of the Largest Insurance Groups: Location-Specific Advantages," *Journal of Risk and Insurance* 75(2): 463–491.
- Outreville, J. F. (2013) "The Relationship between Insurance and Economic Development: 85 Empirical Papers for a Review of the Literature," *Risk Management and Insurance Review* 16(1): 71–122.
- Outreville, J. F. (2014) "Risk Aversion, Risk Behavior, and Demand for Insurance: A Survey," *Journal of Insurance Issues* 37(2): 158–186.

- Outreville, J. F. (2015) "The Relationship Between Relative Risk Aversion and the Level of Education: A Survey and Implications for the Demand for Life Insurance," *Journal of Economic Surveys* 29(1): 97–111.
- Park, H. (1993) "Cultural Impact on Life Insurance Penetration: A Cross-National Analysis," *International Journal of Management* 10(3): 342–350.
- Park, H., S. F. Borde, and Y. Choi (2002) "Determinants of Insurance Pervasiveness: A Cross-National Analysis," *International Business Review* 11(1): 79–96.
- Park, S. C. and J. Lemaire (2011) "Culture Matters: Long-Term Orientation and the Demand for Life Insurance," *Asia-Pacific Journal of Risk and Insurance* 5(2): ISSN (Online) 2153–3792.
- Park, S. C., and J. Lemaire (2012) "The Impact of Culture on the Demand for Non-Life Insurance," *Astin Bulletin* 42(2): 501–527.
- Reuter, C. H. (2011) "A Survey of 'Culture and Finance'," *Finance* 32(1): 76–152.
- Rottig, D. (2016) "Institutions and Emerging Markets: Effects and Implications for Multinational Corporations," *International Journal of Emerging Markets* 11(1): 2–17.
- Schwartz, S. H. (1992) "Universals in the Content and Structure of Values: Theory and Empirical Tests in 20 Countries," in M. Zanna, ed., *Advances in Experimental Social Psychology*, Vol. 25: pp. 1–65, Academic Press.
- Schwartz, S. H. (1994) "Are There Universal Aspects in the Content and Structure of Values?" *Journal of Social Issues* 50(4): 19–45.
- Schwartz, S. H. (2004) "Mapping and Interpreting Cultural Differences around the World," in H. Vinken, J. Soeters, and P. Ester, eds., *Comparing Cultures: Dimensions of Culture in a Comparative Perspective*, Brill Academic Publishers.
- Schwartz, S. H. (2006) "A Theory of Cultural Value Orientations: Explication and Applications," *Comparative Sociology* 5(2–3): 137–182.
- Siegel, J. I., A. N. Licht, and S. H. Schwartz (2011) "Egalitarianism and International Investment," *Journal of Financial Economics* 102(3): 621–642.
- Siegel, J. I., A. N. Licht, and S. H. Schwartz (2013) "Egalitarianism, Cultural Distance, and Foreign Direct Investment: A New Approach," *Organization Science* 24(4): 1174–1194.
- Trinh, T. (2016) *Non-Life Insurance Expenditure in Developed and Developing Countries*, Ph.D. Thesis, Deakin University, Australia.
- Trinh, T., X. Nguyen, and P. Sgro (2016) "Determinants of Non-Life Expenditure in Developed and Developing Countries: An Empirical Investigation," *Applied Economics* 48(58): 5639–5653.
- Vadlamannati, K. (2008) "Do Insurance Sector Growth and Reforms Effect Economic Development? Empirical Evidence from India," *Journal of Applied Economic Research* 2(1): 43–86.

APPENDIX 1: DEFINITIONS

The following citations are obtained from Hofstede (2001):

“Power-distance is the extent to which the less powerful members of organizations and institutions accept and expect that power is distributed unequally. The basic problem involved is the degree of human inequality that underlies the functioning of each particular society.”

“Uncertainty avoidance is the extent to which a culture programs its members to feel either uncomfortable or comfortable in unstructured situations. Unstructured situations are novel, unknown, surprising, and different from usual. The basic problem involved is the degree to which a society tries to control the uncontrollable.”

“Individualism on the one side *versus* its opposite **collectivism** is the degree to which individuals are supposed to look after themselves or remain integrated into groups, usually around the family. Positioning itself between these poles is a very basic problem all societies face.”

“Masculinity *versus* its opposite **femininity** refers to the distribution of emotional roles between the genders, which is another fundamental problem for any society to which a range of solutions are found; it opposes ‘tough’ masculine to ‘tender’ feminine societies.”

The following short definitions are obtained from Chui, Lloyd, and Kwok (2002):

Conservatism includes values that are important in close-knit harmonious relationships, in which the interests of the individual are not viewed as distinct from those of the group. These values are primarily concerned with security, conformity, and tradition.

Mastery accentuates active mastery of the social environment through self-assertion. Such values promote the active efforts of people to change their surroundings and get ahead of others.

Harmony lays emphasis on harmony with nature.

Egalitarian Commitment emphasizes the transcendence of selfish interests. This group of values concerns voluntary commitment to help improve the welfare of other people.

Hierarchy stresses the legitimacy of hierarchical roles and resource allocation.

The following short definitions are obtained from Kaufmann et al., (2000):

Government Effectiveness reflects the quality of the government as well as its capability to formulate and implement policies and deliver public goods.

Rule of Law reflects citizens' assurance and faith in the law and societal rules. But also the quality of the legal system and the enforceability of contracts.

Voice and Accountability reveals countries' behavior in a democratic matter. For example, to what extent citizens can participate in selecting their own government, as well as freedom of expression, freedom of association, and free media.

Political Stability captures the stability of a country's political environment. Measures the different political views within a country and the extent to which terrorist groups or other groups with radical political views can affect the stability of a country.

Corruption reveals the degree to which public power is exploited for private gains.

Appendix 2. The Impact of Cultural Variables on Life Insurance Penetration

Dependent Variable: Penetration 2000			
Variable	Coefficient	Std. Error	t-Statistic
C	0.3857	0.2044	1.887
LOG(GDPCAPITA2000)	0.0085	0.0060	1.429
POWER	-0.0003	0.0004	-0.684
UNCERTAIN	-0.0003	0.0003	-1.019
INDIVIDU	0.0004	0.0004	1.165
MASCULIN	-0.0001	0.0004	-0.279
EGALITARISM	-0.0213	0.0263	-0.811
HARMONY	-0.0421	0.0234	-1.799*
EMBEDDED	-0.0211	0.0335	-0.631
R-squared	0.4468		

Dependent Variable: Penetration 2010			
Variable	Coefficient	Std. Error	t-Statistic
C	0.5186	0.2600	1.994
LOG(GDPCAPITA2000)	0.0130	0.0080	1.509
POWER	-0.0007	0.0004	-1.545
UNCERTAIN	-0.0006	0.0003	-1.670*
INDIVIDU	-0.0002	0.0004	-0.411
MASCULIN	-0.0001	0.0004	0.186
EGALITARISM	-0.0546	0.0283	-1.724*
HARMONY	-0.0188	0.0282	-0.666
EMBEDDED	-0.0265	0.0416	0.637
R-squared	0.4590		

Dependent Variable: Penetration 2015			
Variable	Coefficient	Std. Error	t-Statistic
C	0.4740	0.2838	1.669
LOG(GDPCAPITA2000)	0.0177	0.0098	1.814*
POWER	-0.0007	0.0004	-1.442
UNCERTAIN	-0.0005	0.0003	-1.534
INDIVIDU	-0.0002	0.0004	-0.450
MASCULIN	0.0001	0.0005	0.103
EGALITARISM	-0.0473	0.0333	-1.417
HARMONY	-0.0259	0.0297	-0.870
EMBEDDED	-0.0187	0.0453	-0.412
R-squared	0.4870		